11. 70

16. 24
+ 33

21.

4)12

26.

Name: Date:
=) Teacher: Class:
DAMS306

Why did the ostrich put a net over his head? Because he
wanted to catch his breath?

All four operations on one sheet

3. 4. 5.

4)20 4)36 4)24
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Score:



Answer Key Date:

= Teacher: Class:

DAMS306

Why did the ostrich put a net over his head? Because he
wanted to catch his breath?

All four operations on one sheet

6. 1
X 4
4
1. 70
— 40
30
6. 24
+ 33
57

21

X
O

8. 9
X 4

8

13. 60
— 60

0

18. 16
+ 12

9. 8 10. 5
x 4 x 4
32 20

14 41 15. 34
— 21 — 22
20 12

19 25 20 16
+ 30 + 50
55 66
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